

$$u_t = k u_{xx}$$

$$u_x(0, t) = 0$$

$$u_x(l, t) = 0$$

$$u(x, 0) = 6 + 4 \cos\left(\frac{3\pi}{2}x\right)$$

حل جزئی

علاقه

$$u(x, t) = F(x)G(t) \xrightarrow{(\text{و})} FG' = KF''G \xrightarrow{+FGK} \frac{F''}{F} = -\frac{G'}{G} = \begin{cases} P^2 \\ 0 \\ -P^2 \end{cases}$$

$$\frac{F''}{F} = P^2 \quad F'' - P^2 F = 0 \rightarrow F(x) = Ae^{-Px} + Be^{Px}$$

$$\left. \begin{aligned} \frac{\partial u}{\partial x}(0, t) = 0 &\rightarrow F'(0)G(t) = 0 \Rightarrow F'(0) = 0 \rightarrow A - B = 0 \\ \frac{\partial u}{\partial x}(l, t) = 0 &\Rightarrow F'(l)G(t) = 0 \rightarrow F'(l) = 0 \rightarrow -Ae^{-Pl} + Be^{Pl} = 0 \end{aligned} \right\} \begin{aligned} A = B \\ A = B = 0 \end{aligned}$$

$$\frac{F''}{F} = 0 \rightarrow F'' = 0 \rightarrow F(x) = Ax + B$$

$$\frac{1}{K} \frac{G'}{G} = 0 \rightarrow G' = 0 \rightarrow G = 0$$

$$G = At + B \quad F'(0) = 0 \rightarrow A = 0 \quad F'(l) = 0 \rightarrow B = 0$$

$$-P^2 \rightarrow \frac{F''}{F} = -P^2 \rightarrow F'' + P^2 F = 0 \rightarrow F(x) = A \cos Px + B \sin Px$$

$$F'(0) = -A P \sin Px + B P \cos Px \Big|_{x=0} = 0 \rightarrow B = 0$$

$$F'(l) = -A P \sin Pl = 0 \rightarrow \sin Pl = 0, Pl = n\pi \quad P_n = \frac{n\pi}{l}$$

$$F_n(x) = A_n \cos \frac{n\pi}{l} x$$

$$n = 1, 2, 3, \dots$$

1

10

$$\frac{u(x,t)}{K} \frac{\dot{G}}{G} = -\left(\frac{n\pi}{l}\right)^2 \rightarrow \dot{G} + \left(\frac{n\pi}{l}\right)^2 K G = 0, \quad \left(\frac{n\pi}{l}\right)^2 K = -\lambda_n^2$$

$$\frac{dG}{dt} = -\lambda_n^2 G \rightarrow \frac{dG}{G} = -\lambda_n^2 dt$$

$$G_n(t) = c_n e^{-\lambda_n^2 t}$$

$$u(x,t) = \underbrace{a_0}_{b_0 t} + \sum_{n=1}^{\infty} \underbrace{a_n}_{b_0 t} e^{-\lambda_n^2 t} \cos \frac{n\pi}{l} x$$

(1)

(1)

بفرض $u(x,0) = 6 + 4 \cos\left(\frac{3\pi}{l} x\right)$

$$u(x,0) = 6 + 4 \cos\left(\frac{3\pi}{l} x\right) = a_0 + \sum_{n=1}^{\infty} a_n \cos \frac{n\pi}{l} x + \underbrace{b_0 t}_{b_0}$$

$$= a_0 + a_1 \cos \frac{\pi}{l} x + a_2 \cos \frac{2\pi}{l} x + a_3 \cos \frac{3\pi}{l} x + \dots$$

$$b_0 = 0$$

$$a_0 = 6$$

$$a_3 = 4$$

$$a_1 = a_2 = 0$$

$$a_4 = a_5 = a_6 = \dots = a_n = \dots = 0$$

$$u(x,t) = 6 + 4 e^{-\frac{9Kx^2}{l^2} t} \cos \frac{3\pi}{l} x$$

(1)